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QUESTION 1
Referring to the exhibit. Which prefix in the output shown in the exhibit is an external prefix
injected by an OSPF router?

user@R2> show ospf route
Topology default Route Table:
Prefix Path Route NH Metric NextHop NextHop
Type Type Tvpe Interface addr/label

192.168.1.1 Intra AS BR Ip 1 ge-0/0/3.0 172.26.1.1
192.168.1.3 Intra Area BR Ip 1 ge-0/0/1.0 172.26.2.2
172.18.1.0/24 Ext2 Network Ip 1] ge-0/0/3.0 172.26.1.1
172.26.1.0/30 Intra Network  IP 1 ge-0/0/3.0
172.26.2.0/30 Intra Network  IP 1 ge-0/0/1.0
172.26.3.0/30 Intra Network  IP 100 ge-0/0/2.0
172.26.4.0/30 Inter Network  IP 2 ge-0/0/1.0 172 _26.2_2
192.168.1.1/32 Ext2 Network Ip 1 ge—-0/0/3.0 172.26.1.1
192.168.1.2/32 Intra Network IP 0 1c0.0
192.168.1.3/32 Intra Network Ip 1 ge-0/0/1.0 172_.26_.2.2
192.168.1.4/32 Inter Network Ip 2 ge-0/0/1.0 172_.26.2.2

A. 192.168.1.3

B. 172.18.1.0/24

C. 192.108.1.4

D. 172.26.4.0730

Answer: B

Explanation:

In the OSPF routing table output, prefixes are marked with different route types. An external
prefix injected into OSPF is marked as 'Ext' (External) followed by a number that indicates
whether it's an E1 or E2 route. The prefix 172.18.1.0/24 is marked as Ext2, which indicates that it
is an external route that has been redistributed into OSPF from another routing protocol or static
configuration.

QUESTION 2
Which statement describes integrated routing and bridging (IRB) interfaces?

A. An IRB interface Is an IP gateway For hosts of a bridge domain.
B. An IRB interface assigns interfaces to VLANSs.

C. An IRB interface enables Layer 2 switching on the router.

D. An IRB interface defines a bridge domain.

Answer: A

Explanation:

An Integrated Routing and Bridging (IRB) interface is used to provide Layer 3 routing services to
hosts within a bridge domain. The IRB acts as a default gateway for hosts in that domain,
enabling communication with other networks.

QUESTION 3
The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

Get Latest & Actual JNO-363 Exam's Question and Answers from Lead2pass.
https://www.lead2pass.com



https://www.lead2pass.com/JN0-363.html
https://www.lead2pass.com/

s Instant Download * PDF And VCE % 100% Passing Guarantee % 100% Money Back Guarantee

user@router> show mpls lsp ingress detail
sessions
.0, State: Dn, ActiveRoute: 0, LSPrame: to-R3
| (none)
LSPrype: Static Configured, Penultimate hop popping
LoadBa e: Random
d Follow destinaticon IGP metric
Encoding type: FPacket, Switching type: Packet, GPID: IPv4
¢ LSF Self-ping Status : Enabled
Primary State: Dn
g Priorities: 7 0
SmartOptimizeTimer: 180
Flap Count: 0
uger@router> sho
';ser@:.:ute:# show
ospf |
area 0.0.0.0 {
P 0;
)
Q@ rsvp {
interface all;
£
[
)
interface all;
A. Enabile traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the I1S-IS protocol.
C. Enable traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.
Answer: A
Explanation:

The exhibit shows that the Label Switched Path (LSP) is down. One common reason for this
could be that the IGP is not providing traffic engineering information to the MPLS process. Since
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the exhibit shows the OSPF configuration, enabling traffic engineering extensions for OSPF
would allow OSPF to distribute the labels and traffic engineering information necessary for LSP
establishment.

QUESTION 4
You are bringing a new network online with three MX Series devices enabled for STP. No root
bridge priority has been configured. Which statement is true in this scenario?

A. The device with the lowest MAC address will be elected as the root bridge.

B. The device with the highest MAC address will be elected as the root bridge.

C. The device with the lowest numerical 100 IP address will be elected as the root bridge.
D. The device with the highest numerical 100 IP address will be elected as The bridge.

Answer: A

Explanation:

The root bridge in a spanning-tree network is the bridge with the smallest or the lowest bridge ID.
In the absence of a manually configured priority, the Spanning Tree Protocol (STP) elects the root
bridge based on the lowest bridge ID, which is a combination of the priority and the MAC address.
The device with the lowest MAC address will have the lowest bridge ID and thus be elected as
the root bridge.

QUESTION 5
What is a key differentiator of generate routes from aggregate routes?

Generate routes use a forwarding next hop.

Generate routes have a default next-hop value of reject.
Generate routes have a default preference value of 210.
Generate routes cannot be used as a gateway of last resort.

oo W

Answer: A

Explanation:

Generated routes are a type of route that can be created to summarize and generate more
specific routes within the routing table. Unlike aggregate routes, which summarize existing routes
and inherit a next-hop, generated routes do not necessarily have to match an existing route and
will have a next- hop of reject by default unless specified otherwise.

QUESTION 6
Which statement is correct about the FE80::/10 prefix?

A. This prefix range is used for the link local address.

B. This prefix range is used on the loopback interface.
C. This prefix range is reserved for multicast applications
D. This prefix range is not reserved.

Answer: A

Explanation:

The FE80::/10 prefix is reserved for IPv6 link-local addresses. These addresses are auto-
configured on all IPv6-enabled interfaces and can be used for communication within the local link
(subnet) only.
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QUESTION 7
You are deploying link aggregation groups. By default, what are two considerations in this
scenario? (Choose two.)

A. There should only be four member links per LAG.

B. All the ports must have the same speed.

C. Member links are required to be contiguous ports.

D. Member links can reside on different members within an MC-LAG.

Answer: C

Explanation:

When deploying Link Aggregation Groups (LAGS), it is necessary for all ports in the LAG to
operate at the same speed to ensure consistent performance and avoid issues with load
balancing. Multi- Chassis LAG (MC-LAG) allows for the use of member links that span multiple
physical devices, offering redundancy and higher bandwidth by combining the links from two
separate devices into a single logical LAG.

QUESTION 8
Referring to the exhibit. You are asked to assign interface xe-1/0/5 to a virtual switch. What must
be accomplished to complete the configuration?

[edit]
userf@switch# show routing-instances
sw—1 {
instance—type wvirtual-switch;
bridge-domains {
vlian 1 {
vlan—-id 1;

}
vlian 2 {
vlan-id 2;
!
!
}
[edit]

userf@switch$ show interfaces xze-1/0/5
unit 0 {
family bridge {
interface—-mode access;
vlan-id 2;

A. Interface xe-1/0/5 must be added to routing-instance sw-1 vlan_2.
B. Interface xe-1/0/5 must be a trunk port.
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C. Interface xe-1/0/5 must be added to routing-instance sw-1.
D. An IRB interface must be configured to routing-instance sw-1 vlian_2.

Answer: A

Explanation:

The exhibit shows the configuration of a virtual switch called sw-1 with two VLANs defined within
it:

vlan_1 with VLAN ID 1 and vlan_2 with VLAN ID 2. To add interface xe-1/0/5 to the virtual switch,
the interface must be associated with one of these VLANSs. Since the interface is already
configured with vlan-id 2, it implies that it is intended to be part of vlan_2 within the virtual switch
sw-1. Therefore, the correct answer is to add interface xe-1/0/5 to the vlan_2 bridge domain
under the sw-1 routing instance.

QUESTION 9
Referring to the exhibit, which statement is true about VRRP?

userf@Rl> show vrrp summary

Interface State Group VE state VR Mode Type Address

ge—-0/0/4.0 up 10 master Active 1cl 172.25.100.2
vip 172.25.100.1

user@RZ> show vrrp summary

Interface State Group VE state VR Mode Type Address

ge—-0/0/4.0 up 10 master Active lcl 172.25.100.3
vip 172.25.100.1

VRRP communication between the two devices is not functioning correctly.

Both routers are in the same state because they have the same VRRP priority.
VRRP s functioning normally in active/active mode.

The routers should use different virtual IP addresses for VRRP to function correctly.

oo W

Answer: C

Explanation:

The exhibit shows the show vrrp summary output from two routers, with both routers listing the
state of their VRRP group as master. VRRP allows for multiple routers to share a virtual IP
address and a virtual MAC address, but usually, only one router is the master at any given time
while others are in backup state. However, in some configurations, VRRP can operate in an
active/active mode where multiple routers handle traffic simultaneously for load sharing. Since
both routers show the state as master and there is no evidence of misconfiguration in the virtual
IP addresses or priority, it indicates that VRRP is likely functioning in an active/active setup.

QUESTION 10

Referring to the exhibit, you have configured an aggregate route that represents the
172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when you view the routing
table, your new route hidden.

Which action would you perform to determine the problem?
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inec. ( 21 destinations, 21 rcutes (20 active, 0 holddown, 1 hidden)

ineté6.0: 10 destinations, 10 routes (10 active, 0 holddown, 0 hidden

edit routing-optiocns

user@router$ r show route hidde

inet.0: 21 destinations, 21 rcutes (20 active, O holddown, 1 hidden)

+ Active Route, - Last Active, * Both

i72.21 22 [Aggregate] 00:12:06¢

inez€.0: 10 destinations, 10 reoutes (10 active, 0 holddown, 0 hidden v

Verify that you have active contributing routes on the device.

Verify that you have configured a policy on the device to accept aggregate routes.
Verify that you have defined a metric value for the aggregate route.

Verify that you have set the preference to a lower default value.

oo w»

Answer: D

Explanation:

The exhibit shows an aggregate route configuration for the network 172.21.0.0/22, which would
summarize the specific networks 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24. For an
aggregate route to be active, it must have contributing routes in the routing table. If the route is
hidden, it usually means there are no contributing routes that are active or the policy applied to
the aggregate does not match any of the specific routes. Therefore, the first step in
troubleshooting would be to verify that there are indeed active contributing routes for the
aggregate to be valid.

QUESTION 11
What are two bridging concepts that are used to maintain an Ethernet switching table? (Choose
two.)

learning
exporting
aging
timing

oo w»

Answer: AC

Explanation:

In Ethernet switching, learning and aging are two fundamental concepts for maintaining a
dynamic Ethernet switching table (also known as a MAC address table). Learning is the process
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by which switches listen for frames and learn the MAC addresses by associating them with the
incoming port. Aging is the mechanism that ensures the switch updates its table by removing
MAC addresses that have not been seen for a certain amount of time (aging time).

QUESTION 12

You are asked to configure the OSPF environment to prevent the DRother routers from
participating in DR/BDR election.

Referring to the exhibit, which command will accomplish this task?

M\ Exhibit

DR BDR

| B 4| B
5w &P

ge-0/0/1 ge-0/0/1

ge-0/0/1 ge-0/0/1 ge-0/0/1

kb & | b

DRother DRother DRother

set protocols ospf area 0.0.0.0 interface ge-0/0/I priority 255

set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority

set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
set protocols ospf area 0.0.0.0 interface ge--0/0/1 interface-type p2p

oo W

Answer: B

Explanation:

To prevent a router from participating in the OSPF designated router (DR) and backup
designated router (BDR) election process, you set the OSPF priority to 0 on the interfaces of that
router. This tells OSPF that the router on those interfaces is not to be considered for election as
either DR or BDR, effectively making them DRother routers. The exhibit indicates that this is the
desired configuration, and therefore the correct command to issue on the Juniper device would
be to set the priority to 0 on the relevant interfaces.

QUESTION 13
Referring to the exhibit. Which two statements ate correct about the actions taken as the packet
traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit?
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(Choose two.)

Ethernet header
IP header

TCP header
Payload

~

Packet

>
A A0 °@—' 11 AT —D
aC Ny W v W i
R3 R4

Site 1 I R1 R2 RS Site 2

Service Provider MPLS Core

R2 will perform a lookup using the mpls.0 table.
R1 will perform a lookup using the Inet.3 table.
R1 will perform a lookup using the mpls.0 table.
R2 will perform a lookup using the inet.3 table.

cow»

Answer: AC

Explanation:

In MPLS (Multiprotocol Label Switching) networks, routers use label switching to forward packets.
The first router at the edge of the MPLS network (R1) will perform a lookup in the mpls.0 table to
determine the label to attach to the packet as it enters the MPLS network. This label informs the
next routers in the MPLS network (like R2) on how to forward the packet. Internal MPLS routers,
like R2, also perform lookups in their mpls.0 table to determine how to switch the packet toward
its destination (label swapping). The inet.3 table is used for resolving next-hop information for
labeled routes, but it's the mpls.0 table that is used for label switching decisions.

QUESTION 14
Referring to the exhibit, which two statements are correct? (Choose two.)
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ISPA ISP B
AS 65501 AS 65502
Advertised Prefixes: N ¢ | Advertised Prefixes
N _ ANy
172.20.0.0/24 L@ ‘0 172.20.0.0/24
172.20.20.0/24 &\ RO 172.20.1.0/24
172.20.21.0/24 S’ x>
.20.21. . 2
S . : £ R1 R2 >
N\ .
R1: local preference = 100 prm— R2: local preference = 200
\'BG"/
R3
AS 65512

Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

oo w»

Answer: AB

Explanation:

Local preference is a BGP attribute that dictates which path is preferred when multiple paths to
the same destination are available. A higher local preference is preferred over a lower one. Since
ISP A (AS 65501) is advertising a local preference of 100 and ISP B (AS 65502) is advertising a
local preference of 200 to AS 65512, traffic from devices in AS 65512 will prefer the path via ISP
B for all networks that ISP B advertises. However, since ISP A advertises the 172.20.21.0/24
network and ISP B does not, traffic for 172.20.21.0/24 will go through ISP A. For the
172.20.0.0/24 network, which both ISPs advertise, devices in AS 65512 will prefer the path via
ISP B due to the higher local preference.

QUESTION 15

Referring to the exhibit. You have an established LSP between your R1 and R5 devices using the
configuration shown in the exhibit. You are asked to ensure that MPLS labels are used to forward
traffic by all devices within the LSP.

Which action will accomplish this behavior?

user@Rl> show configuration protocols mpls
label-switched-path R1 _TO R5 {
to 192.168.1.5;
no—cspf;
}
interface ge-0/0/0.0;
interface ge-0/0/1.0;
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Configure the explicit-null statement under the protocol mpls hierarchy on R1.
Delete the no-espf statement under the R1_TO_RS5 label switched path on R1.
Configure the install statement under the R1_TO_RS5 label switched path on R1.

cow»

Answer: B

Explanation:

The "ultimate-hop-popping" term refers to the action taken by the penultimate router in an LSP to
remove the MPLS label before delivering the packet to the ultimate router, which is not desired
here. Configuring the "explicit-null" statement causes the penultimate router to replace the top
label with a label that has a value of 0, which instructs the ultimate router to perform a label
lookup and preserve the label switching for the entire LSP.

QUESTION 16
Referring to the exhibit. Which two statements are correct about the information shown in the
exhibit? (Choose two.)

Configure the ultimace-hop-popping statement under the R1_TO_RS5 label switched path on R1.

userf@switch> show spanning-tree bridge
STP bridge parameters

Context ID : 0
Enabled protocol : RSTP
Root ID : 8192.59.c5:8d:ae:db:41
Hello time : 10 seconds
Maximum age : 40 seconds
Forward delay : 30 seconds
Message age : 0
Number of topology changes 1 6
Time since last topology change : 781 seconds
Topology change initiator : ge-0/0/14.0

Topology change last recvd. from : 2c:eb:f5:31:06:0b
Local parameters

Bridge ID : 8192.50:c5:8d:ae:db:41
Extended system ID : 0
Internal instance ID : 0

The root bridge is reachable using the ge-0/0/14 interface.
This switch is the root bridge for this spanning tree topology.
This switch has a bridge priority of 8k.

The root bridge's priority Is 4k.

Do

Answer: AC

Explanation:

The exhibit shows the output of the command show spanning-tree bridge, which provides
information about the spanning tree status of the switch. From the output, we can see that the
switch has a bridge ID different from the root ID, which implies that this switch is not the root
bridge. The "Topology change initiator" field shows ge-0/0/14, which indicates that the last
topology change occurred on this interface, and this is also the interface used to reach the root
bridge.
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